
Math Assessment 3 Questions:

Add using doubles

Link: https://youtu.be/Vp2nJG9_afg?feature=shared

6 + 6 = ___

7+7 = ____

7 + 6 = ?
7 + 7 - 1 = ?
7 + 7 = 14

14 - 1 = 13
So, 7+6 = 13

Make a Ten to Add

Link: https://youtu.be/t2FMNDk0pXM?feature=shared

8 + 3 = 11
(8+2, the 2 is taken out of the 3)

10 + 1 = 11

7 + 4 = 11
(7+3, the 3 is taken out of the 4)

10+1 = 11



Alberto has 8 straws. Alberto has 9 fewer straws than Yolanda. How many
straws does Yolanda have?

Lily has some toy cards. Yong has 5 toy cars. Together, they have 11 toy cars.
How many toy cars does Lily have?

4 + ___ = 13

7 + __ = 15

19 - ___ = 12

7 - __ = 5


